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4

G GII G G GVivace 
tutti 

Johann Adolph Scheibe (1708-1776)G G G G G G G G G G G M G GII G G G G G G G G G G G G
8AVV G G M GT GGGG G GT GGGG G GG GU G G GGGG G G GT GU GGG G GT GU GGG G
15AVV G GV G G G GGG GV G GU GH G GH G G N GH GH G GH G G N GI GGGGGGG G
22AVV GG GT GG GT GGGGGGG G GG GT GG GT GU G GT GGG G GU G GT GGG G GGG GH GGG GH
28AVV GGG GH GGG GH G G G G G G G G G G G G G G G G GH G G G G G G G GG GT GG GT
34AVV G G G G G G G G GH

G G G G G G G GG GT G* G G G G GII G G GSolo G G G
41AVV GG G G G G G G M G GII G G G G G G G G G G G G G G M G G G G G G G G
48AVV GGGGGGG G GG GV GG GV G G GG GV GGGG G GGGGGGG G G( U) GGGGGG G GGGGGGG G
54AVV G G G G G G G G G G G G G G G GV G GT GG GT G G GV G G G G G G G G G G G G G G G G G G G G
60AVV GV G GT G GV GT GV G GV G G G G G GV G G G G G G G G G G GGGG G G G GGGG
65AVV GG G GGGG G GV G GGGG GV GGGGG GT GG GT GG GV T GGGGGGG G GGGGGGG G



71AVV G GV G G G GGGGG G G3 GG GT G* F 22 G GII G G GVSolo G G G
99AVV G G G GU G G G G G G G GV G G GV GV G GII G G GV G G G G G G G G G GV GV G M
105AVV G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G
111AVV GV G GT GG GT GG GT G G GV G GT GG GT GG GU T G G G| G| GGGG G| G| GGG GV
116AVV GG G GG G G GU G GG G G G( V) G GG G G| G| GGGGG| G| GGG GV GGG GG G GG G GG G
122AVV G G G G G G G G GGGGGGGG G3 3 

3 G G G G G G GG GT G* G M 8

135AVV GG GU G GG G
Solo 

3 3 GGG G GG G
3 3 GGG G GG GV

3 3 GG G( V) G( V) GG G
3 3 

GGG G GG GV
3 3 

140AVV GGG G GG G3 

3 

G G G G G G G GGGG G G G GU G G G GGGG G G G G
146AVV GU G G G GG GU GGGG G G M GV G G G G G G G GGGGGGG GV G M
153AVV G GII G G G G G G G G G G G G G G M G GII G G G G G G G G G G G G
160AVV G G M G G G GU G G G G G G G G G G G G G G G G G G G G GU G G G G G G GU G G G G G G G
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166AVV GG GT GG GT G G G G G G G G G G G G G G G G G G G G G G G GV G GT GG GT G G GV G G G G G
172AVV GGGGGGG G( U) GG G GGGG GG G GGGG GG G GGGG GG G GGG G GGGGGG GT
178AVV GG GT GG GT GGGGGGG G GGGGGGG G GG G G G GGGGG G G3 G G* F
185AVV G GII G G Gtutti G G G G G G G G G G G M G GII G G G G G G G G G G G G
192AVV G G M GT GGGG G GT GGGG G GG GU G G GGGG G G GT GU GGG G GT GU GGG G
199AVV G GV G G G GGG GV G GU GH G GH G G N GH GH G GH G G N GI GGGGGGG G
206AVV GG GT GG GT GGGGGGG G GG GT GG GT GU G GT GGG G GU G GT GGG G GGG GH GGG GH
212AVV GGG GH GGG GH G G G G G G G G G G G G G G G G GH G G G G G G G GG GT GG GT
218AVV G G G G G G G G GH

G G G G G G G GG GT G* G M
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16

Largo G GGGG GH G GH
Solo GGGGGGG G G GT G GT G GT G GT GGG G M(3) 

21AVV GT G G G G G G G GGGG GT G G G G G G G GGGG GT G G G G G G G GGGG G G G G G G G G G
25AVV GV G GT GG GT GG GT GGGG GV G GT G GT G3 

3 GV G GT GG GT GG GT GGGG GV G GT G GT GG3 
3 

29AVV GGGGGGG GT G G* G GV GGG G G*3 G M M 9 G GGG GV GI G GISolo 

42AVV G GGGGG GV G G GT G GT G( U) GT G GT GG GV G M(3) 
GT G GT G GGGGG G3 

3 

46AVV GT G GT G GGGGG G3 
3 GH G GH GGGGG G(3) (3) GG GT GG GT G G G G G G G

50AVV GV G G GV G M 6 G GGGG G G GGGGG GUSolo GG GT G GU GT G
59AVV G G GV G GV G G GGGGG GU GG GT GG GT G G G GGGGGGGGGG G G G GGGGGGGG
63AVV GG GT GG GT GG GT GGGGGG GT G GT G3 

3 

GG GT GG GT GG GT GGGGGG GT G GT G G(3) 

(3) 

67AVV G GGGGGG GT G G* GGG G G G
GGGGG G*(3) 

(3) 

3 G M M 11
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GGG G GPoco Presto 
(3) 

Tutti G G G G G GGG G G(3) G G G G G G G G G G G GH G G G G G G G GU H G
9AVV GGGG G GGGG G G G G G N GGG G G(3) G G GU G G G GU G G G(3) 

16AVV G G( V) G G G GH G GG GT G G G G G GG GT GH GGG G(3) GGG G(3) GGG G*(3) 

24AVV GGG G*3 
GGG G G3 G G G G G GGG G*3 GT GGG G G(3) 

Solo G G G G G GGG G G(3) 

32AVV GG G G G G G G G G G GH G G G G G G G GU H G GGGG G GGGG G G G G GGG G(3) 

40AVV GI G N G G GGGG G3 

G G G G GG G3 G G G G GU G G3 G G G G G G G G GV GGG G3 

G G GV G GV G G3 

47AVV G G GV G GG G3 G G G GV G G GGG G*(3) GGG G*(3) GGG G*(3) GGG G*(3) 
G GV G G G

(3) 

54AVV GGG GV G GGG G*(3) GT 16 GG GV G GSolo 
(3) GGGG G G GV GGG G GGG GV G

77AVV G G( U) G G G3 G G G G G G GV G G G G G G G GV G G G G G G G G G GGGG G3 
G G G G G G

84AVV G G GGGG G3 
G G GGGG G3 

G G GGGG G(3) GV G GGGG G3 
G G GGGG G(3) G G G G G G G G G G G G

91AVV G G G G G G G G G G G G GH G GG GT G G GH G GG GT G G G G G GV T GV GG G*
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99AVV GGG G*(3) G N G G GGG G G(3) G G G G G G G G GGG G G(3) G G G G G G G G GGGGG G(3) 

(3) 

106AVV G G GGGGG G(3) 

(3) 

G G GGGGG G(3) 

(3) 

G G G G G G GU G GU GGGG G(3) 

(3) 

G G GGGGG G(3) 

(3) 

G G GGGGG G(3) 

(3) 

112AVV G G G G G G GU G G G G G GU G GU GGG G(3) 
G G G G G G G G GGGG GU

3 

G G G G G G G G GGGG G
(3) 

119AVV G G G G G G G G GGGG G(3) 
G G G G G G G G G G G G G G G G G N GGG G G(3) G G G G G

127AVV GGG G G(3) G G G G G G G G G G G GH G G G G G G G GU H G GGGG G GGGG G
135AVV G G GGG G G(3) 

G G G G G G G G G G GG G3 G G G G G G GGG G*(3) GGG G(3) 
GGG G G(3) 

142AVV G G G G G GGG G*3 GT GGG G G(3) 
Tutti G G G G G GGG G G(3) G G G G G G G G G G G

150AVV GH G G G G G G G GU H G GGGG G GGGG G G G G G N GGG G G(3) 

158AVV G G GU G G G GU G G G(3) G G( V) G G G GH G GG GT G G G G G GG GT GH
165AVV GGG G(3) GGG G(3) GGG G*(3) GGG G*3 

GGG G G3 G G G G G GGG G*3 GT
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